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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an —--—--—-- -- toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ~——--—------- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.
1) vacuous 2) vivid 3) cyclical 4) careless

4-  The singer's mellifluous voice kept the audience --—----e-- for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

5-  His family, relatives, and friends still cling to the hope that Jeff will someday ---------- -
himself from the destructive hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6- Logan has been working long hours, but that is no excuse for him to be -----—eeeeev to
customers.
1) ingenious 2) intimate 3) discourteous 4) redundant

----, he continued to assert that he was innocent and had

7-  Although he was found
been falsely indicted.

1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and -- --- from years of being out in the
sun and the wind.

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the ----------— of the project before investing
their money in it.
1) impression 2) visibility 3) feasibility 4) preparation

10- That is too --—-—---- an explanation for this strange phenomenon—I am sure there's
something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ~==eeemeem-
spatial reasoning, and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) ~—=-eeeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by

Mozart, verbal relaxation instructions, and (13) ---===--——--, They found a temporary
enhancement of spatial-reasoning, (14) ----=c-meee spatial-reasoning subtasks of the
Stanford-Binet [Q test. Rauscher et al. show that (15) ========—==- the music condition is
only temporary.

11- 1)in 2) for 3)of 4) on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1) silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Security holes in current computer and telecommunications systems allow these
systems to be subject to a broad spectrum of adverse or hostile actions. The spectrum
includes: inserting false data or harmful programs into information systems; stealing
valuable data or programs from a system., or even taking over control of its operation;
and disrupting the performance of a system by causing erratic behavior or destroying
data or programs or by denying access to the system. Taken together, the surreptitious
and remote nature of these actions can make their detection difficult and the
identification of the perpetrator even more difficult. Furthermore, new possibilities for
hostile actions arise every day as a result of new development and applications of
information technology.

The bad actors who might perpetrate these actions include: hackers, zealots or
disgruntled insiders to satisfy personal agendas: criminals for personal financial gain:
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terrorists or other malevolent groups to advance their cause: commercial organizations
for industrial espionage or to disrupt competitors: nations for espionage or economic
advantage or as a tool of warfare. Cyberspace attacks mounted by these different types
of actors are indistinguishable from each other insofar as the perceptions of the target
personnel are concerned. In this cyberspace world, the distinction between “crime”
and “warfare™ in cyberspace also blurs the distinction between police responsibilities.

The spectrum of hostile actions, according to the passage, includes all of the following
EXCEPT —

1) stealing valuable data or programs from a system

2) inserting false data or harmful programs into information systems

3) disrupting the performance of a system by causing erratic behavior

4) manipulating the performance of a system by changing data or programs

The word “surreptitious” in paragraph 1 is closest in meaning to —---—--—,

1) secret 2) hazardous 3) vicious 4) internal
According to the passage, new possibilities for hostile actions arise every day due to the

1) different perceptions of the target personnel

2) new developments in information technology

3) fuzzy distinction between “crime” and “warfare™

4) blurry borderline between police responsibilities

According to the passage, the motive for the wrong action committed by displeased
insiders is --—--==--ev,

1) espionage 2) to disrupt competitors

3) personal financial gain 4) to satisfy personal agendas
The word “mounted™ in paragraph 2 is closest in meaning to -—--—--—-- "

1) organized 2) collected 3) climbed 4) destroyed
PASSAGE 2:

Language differences are in fact still the biggest obstacle to agreement in the virtual
world. For example, there are such expressions and terms as cyber, cyberspace.
internet, and networks in the English language. Nevertheless, when translating them
into other languages, we might encounter some difficulties. which are sometimes
troublesome as it can be hard to find a direct equivalent in the target language. In
Chinese academic circles, there are even disputes over transliteration (Yin Te Wang)
and free translation (Hu Lian Wang) of the term “internet.” In addition, the United
States and other Western countries usually use the term “cyber security,” while Russia
uses “information security.” China used to employ “information security.” but now
uses both terms. So far, this situation has not caused too much trouble in international
exchanges, but the differences between disparate parties do exist and constitute one of
the sources of cyber conflicts.

To some extent, what Western scholars called “fragmentation™ of cyberspace is also
a result of language differences. When accessing the internet. most internet users will
use their native language to browse news websites, do shopping online, and so on. In
this sense. language differences have caused the real fragmentation of cyberspace.
However, the accusations made by Western countries that other countries are
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“fragmenting”™ cyberspace are not well-founded. as even if a country tries to build an
area network it is inseparable from the global internet infrastructure and its schema.
and thus it remains part of the global internet.

What is the first paragraph mainly about?

1) Cyberspace and the internet

2) Linguistic conflicts in the virtual world

3) Translation issues in Chinese academic circles

4) Difficulties we might face while using the internet
Which of the following statements is correct?

1) Russia used the term “cyber security™ in the past.
2) Russia currently uses both terms “information security™ and cyber security.”
3) The United States uses both terms “information security”™ and cyber security.”
4) China currently uses both terms “information security™ and “cyber security.”
The word “disparate” in paragraph 1 is closest in meaning to -- .
1) powerful 2) significant 3) different 4) advanced
What does the second paragraph mainly discuss?

1) Languages used to browse news websites

2) The accusations made by Western countries

3) The main cause of fragmentation of cyberspace

4) Western scholars’ terminology in using cyberspace

The word “it” in the last line of the second paragraph refers to

1) an area network 2) cyberspace
3) the global internet 4) schema
PASSAGE 3:

Information security and confidentiality are a key concern, particularly with the
rampant growth and use of the internet. Along with the growth comes the incidents of
unauthorized information access which are countered by the use of varied secure
communication techniques, namely: cryptography and data hiding. More recent trends
are concerned with the application of DNA cryptography and data hiding by using it as
a carrier thereby making use of its bio-molecular computational properties. This study
provides a survey of recently published DNA-based data hiding algorithms which
make use of DNA to safeguard critical data being transmitted over an insecure
communication channel. Several DNA-based data hiding techniques will be discussed
with particular emphasis on strength and weaknesses of the algorithm in question:
algorithms are compared based on the cracking probability, double layer of security,
blindness. and much more. This will be useful for future research in the design of more
efficient and reliable techniques of secure DNA data hiding.

Which of the following is the best title for the passage?

1) Growth and Use of the Internet

2) Unauthorized Information Access

3) Information Security and Confidentiality

4) Security Issues in DNA-Based on Data Hiding: A Review
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The word “rampant” in line 2 is closest in meaning to -—-=---wuuv .

1) systematic 2) incredible 3) widespread 4) fast-moving
The word “countered” in line 3 is closest in meaning to -—-------- 5
1) reinforced 2) offset 3) fixed 4) eliminated

According to the passage, algorithms are compared based on all of the following
EXCEPT e,

1) blindness 2) double layer of security
3) single or double hiding layer 4) the cracking probability
The passage is most probably —-——-—-—,

1) the abstract of an academic paper

2) part of a scientific book on data hiding

3) the discussion section of an academic paper

4) part of an encyclopedic article on DNA-based data hiding algorithms
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